

Tutorium

1. Beweisen Sie das Absorptionsgesetz

$$a \wedge (a \vee b) = a$$

auf 2 Arten.

2. 554 Nr. 1

3. 561 Nr. 1 + 2

$$a \wedge (a \vee b) = a$$

| | | | | |
|---------------------------|-------|-------|-------|-------|
| a | w | w | f | f |
| b | w | f | w | f |
| $a \vee b$ | w | w | w | f |
| $I.: a \wedge (a \vee b)$ | w | w | f | f |
| $---$ | $---$ | $---$ | $---$ | $---$ |
| $I \Leftrightarrow a$ | w | w | w | w |

$$E[A] = \text{Bool}^2$$

↓

Tautologie

$$a \wedge (a \vee b) \Leftrightarrow a$$

Äquivalenz

da Endlosschleife

\Leftrightarrow neutrales Objekt \emptyset

$$a \wedge (a \vee b)$$

$$(a \vee f) \wedge (a \vee b)$$

$$a \vee (f \wedge b)$$

$$a \vee f$$

$$a$$

} neutral
erwartet

} distrib.

} übergenügt

} neutral

S 54 Nr. 1) $I: \neg(h \wedge e) \rightarrow \neg f$
 $\underline{II}: e \vee \neg f \rightarrow \neg h$
 $\underline{III}: e \vee f \vee h$

} 1

$E[A] = \{ (F \vee F) \}$
 $\begin{matrix} \uparrow & \uparrow & \uparrow \\ h & e & f \end{matrix}$

\Rightarrow Es sind alle
 wasser

| | | | | | | | |
|--|-----------|-----------|-----------|-----------|-----------|-----------|-----------|
| h | h | h | h | \bar{h} | \bar{h} | \bar{h} | \bar{h} |
| e | h | h | \bar{h} | \bar{h} | h | \bar{h} | \bar{h} |
| f | h | \bar{h} | h | \bar{h} | h | \bar{h} | \bar{h} |
| $\neg(h \wedge e)$ | \bar{h} | \bar{h} | h | h | h | h | h |
| $\bar{I}: \neg(h \wedge e) \rightarrow \neg f$ | h | h | \bar{h} | \bar{h} | h | \bar{h} | h |
| ----- | - | - | - | - | - | - | - |
| $e \vee \neg f$ | h | h | \bar{h} | h | h | \bar{h} | h |
| $\bar{II}: e \vee \neg f \rightarrow \neg h$ | \bar{h} | \bar{h} | h | \bar{h} | h | h | h |
| ----- | - | - | - | - | - | - | - |
| $e \vee f \vee h$ | h | h | h | h | h | h | \bar{h} |
| ----- | - | - | - | - | - | - | - |
| $\bar{I} \wedge \bar{II} \wedge \bar{III}$ | \bar{h} | \bar{h} | \bar{h} | \bar{h} | \bar{h} | \bar{h} | \bar{h} |



SGN in Na)

| a | b | c | | | | | | | |
|-----------------------------------|---|---|----------|----------|----------|----------|----------|----------|----------|
| w | w | w | f | f | f | f | | | |
| w | w | f | f | w | w | f | f | | |
| w | f | w | f | w | f | w | f | | |
| <u>I</u> : $\neg a \rightarrow b$ | | | w | w | w | w | w | f | f |
| <u>II</u> : $a \wedge b \wedge c$ | | | f | w | f | w | f | f | f |
| <u>I</u> \wedge <u>II</u> | | | <u>f</u> | <u>w</u> | <u>w</u> | <u>f</u> | <u>f</u> | <u>f</u> | <u>f</u> |

$$KNF: (\neg a \vee \neg b \vee \neg c) \wedge (\neg a \vee b \vee c) \wedge (a \vee \neg b \vee \neg c) \wedge (a \vee \neg b \vee c) \wedge (a \vee b \vee \neg c) \wedge (a \vee b \vee c)$$

$$DNF: (a \wedge b \wedge c) \vee (a \wedge \neg b \wedge c)$$

2)

$$\underline{[(a \vee b) \vee c]} \wedge \underline{[(a \vee b) \vee \neg c]} \wedge [(\neg a \vee b) \vee \neg c]$$

$$(a \vee b) \vee (c \wedge \neg c) \quad \left. \vphantom{(a \vee b) \vee (c \wedge \neg c)} \right\} \text{distributiv}$$

$$(a \vee b) \vee F \quad \left. \vphantom{(a \vee b) \vee F} \right\} \text{Komplement}$$

$$a \vee b \quad \left. \vphantom{a \vee b} \right\} \text{neutral}$$

$$(a \vee \underline{b}) \wedge (\neg a \vee \underline{b} \vee \neg c)$$

$$b \vee [a \wedge (\neg a \vee \neg c)]$$

$$b \vee [(\underbrace{a \wedge \neg a}_F) \vee (a \wedge \neg c)] \quad \left. \vphantom{b \vee [(\underbrace{a \wedge \neg a}_F) \vee (a \wedge \neg c)]} \right\} b \vee (a \wedge \neg c)$$